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In the triangle ABC, AB =12 cm and AC =10 cm, and BAC =
60°. What Is the value of the length of the side BC?

AYs ABC H, AB = 12 91} 3R AC = 10 9H, 3R 2BAC = 60°

g1 YSIT BC D TaTs BT HIH RIT g2
(A) 12.5cm (B) 11.6 cm (C)12.4cm

(D)11.13 cm
(SSC CGL 2022)
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O Is the center of this circle. Tangent drawn from a nt P,
touches the circle at Q. If PQ =24 cm and OQ =10 cm, then
what Is the value of OP?

%g%am%%. | Pﬁ@%ﬁﬂémﬁw?ﬁcgwwﬁ

1 gfe PO = 24 IHt 3R 00Q = 10 JHI §, I OP ST HMH
1872
(A) 26 cm (B) 52 cm (C) 13 cm (D)15 cm
(SSC CGL 2022) ( ::/\>
\\\,//'/ ‘
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2 BDC

In a triangle, CD is the bisector of £ BCA. CD = DA. If
= 76°, what Is the degree measure of 2 CBD?

H, CD, ~ BCA &1 JHafgHTSI® g1 ST = Siw. afe

TP Ay
BDC = 76° &, @Y 2 CBD &1 f& AU &1 22
(A) 320 (B) 76° (C) 800 (D)66°
(SSC
CGL 2022)
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The length of the tangent to a circle from a point P is 15 cm.
Point P is 17 cm away from the center. What is the radius of

the circle?

g P 0 O TR &t da1g 15 A 81 fdg P Fg A 17
gﬁﬁgélqﬁqﬁaﬁﬁww%? g
(A) 7 cm (B) 9 cm (C)8cm (D)4 cm

(SSC CGL 2022)
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O is the incentre of the triangle POR. If angle POR :O
e%ree, then what is the angle PQR?

d

O YW PQR T 3fd:%+% g | afe PIvT POR = 140 &I g,
$IUT PQR HIT 3?2

(A) 40° (B) 140° (C) 100° (D) 90°
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(SSC
CGL 2022)
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Select the correct option ﬁ'Q‘TQ$W%'\‘i‘d’Hﬁ'\‘Iﬁ
with respect to the given faw ey &1 Tgq HI)

statement. wga%arrm%e’raffa’rm
A Two tangents are drawn m@iﬁﬁlﬁﬁal

at the end of the diameter of (a)aw ﬂﬁﬂﬂ?ﬁ%l

a circle. (b) d Hd ¥ §IHR T[eIRd § |

(a)They intersect each (c) d TP U b JHMIIR B |
other. () A TPH G & Gadd o |

(b) They pass through /AR

origin . ( 20 \>

(c) They are parallel to each
other.
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A,B,C are three angles of atriangle. If A - B = 45° an B-C=

15°then £A =7 .

g,%cwﬁﬁﬁr$?ﬂ=raﬁwél gfe A-B=45° 3R B - C = 15°
LA =7

(A) 83° (B) 85° (C) 95° (D) 759
(SSC CGL
\ S
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In a AABC, the median BE intersects AC at E. If BG=12 cm,
where G Is the centroid, then BE Is equal to:

AABC ¥, HTfI®T BE, AC &I E WX Ufdwde &3dl 21 afd BG=12

94, 98T G H5® g, ol BE SHP aRIeR B
(A) 16 cm (B) 18 cm (C) 15cm (D) 13
cm

(SSC CGL 2022
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If AABC ~ ADEF, and BC = 4 cm, EF = 5 cm and the area of
triangle ABC =80 cm2, then the area of the triangle DEF is:

gfe AABC ~ ADEF, 3R BC = 4 §#I, EF = 5 J#} 3fR Y=
ABC &T &% d = 80 12 B, df FAYS DEF &7 &% d &:

(a) 169 cm? (b) 80 cm? (c) 144 cm?
(d) 125 cm?
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AB Is the diameter of a circle with center O. If P be aoint

on the circle such that £ZAOP = 110°, then the measure of
£ OBP Is:

ABWoaﬁ?m?ﬂm%l uﬁpqﬁwwﬁg%ﬁﬁ%

£LAOP = 110°, @ LOBP &1 HIY @
(A)50° (B)65° (C)60° (D)55°

(SSC CGL
2022) (
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If two circles of radii 18 cm and 8 cm touch externall, then
the length of a direct common tangent is:

gfe 18 T 3k 8 A FAsuT aT1et € 9 91eT U | Rl Hd B,

at M Ivafy Tr=iar #t §ar8 3
(A)24cm  (B)12cm  (C)16cm (D) 30cm
(SSC CGL
7oy
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The diameters of two circles are 12 cm and 20 cm,
respectively and the distance between their centers is 16 cm.
Find the number of common tangents to the circles.

&l gl T AT HHTT: 12 T 3R 20 AH g 3R I7 Hal &
dHg &1 gt 16 A 21 g1 R IHAFAE TRt Y@13Mi BT F=A1 [
Pifoa|

(SSC CGL 2022) VoS
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In the circle, XYZ Is a secant and ZT Is a tangent to
circleat T. If TZ=12cm and YZ =8 cm, then find the length

of XY.

¥, D¢P ¥@T ¢ 3R B T IR T W 3ET ¢
?%szjfzqgtﬁ&ﬁvvz - sﬁﬁzé,qa?xv%ﬁaqgmaﬁml

(a) 8 cm (b) 9 cm (c) 6cm (d) 10 cm
(SSC CGL PRE

2022) (\/_m B
'\\j / o6
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From the foIIowm%flgure find x +y + z.

X +y + zJld I

(SSC CGL
2022)
(A) 1200 (B) 130°
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In the given figure, a circle is inscribed in APQR, such
that it touches the sides PQ, OR and RP at points D, E,
F respectively. If the lengths of the sides PQ =15 cm,
QR =11 cm and RP =13 cm, then find the length of

ﬁqwﬁﬁﬁ APQRﬁWQﬁWWW%%W
HFITG%PgﬁQRéﬁTRPHﬁm S
hidli gl PQ:
3R RP = 13%

CGL 2022)

.
(A)9cm (B) 8 cm (C) "45 .




In AABC, AB =AC, O'is a point on BC such that BO = CO and
OD is perpendicular to AB and OE is perpendicular to AC. If
< BOD = 60° then measure of 2 AOE Is:

AABC ®, AB =AC, OBC R T fdg s UdR g fb BO = CO
3fiR OD, AB WR @§dd & 3R OF, AC UR &@igad gl If¢ 2 BOD =
60° 8, @l 2 AOE &T HIU B:

(A) 1200 (B) 60° (C) 30° (D)90°
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CGL 2022)
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